A = 0O & AFZ ZH Al N
2011E T =204 LBESIH L JIEFSESIH SSIAIR D ~ 23 AL Dt
2A: 23 ARt
Hu: xgos =g e
&2 23 2Ee Was (e E2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
O 3| ALt 801,496 646,509 154,987
Ngeols 29 XN& 741,187 573,110 168,077
Ozl Lialst 741,187 573,110 168,077
olFasNa 389, 166 389, 166 0
205 2|2/ d| 389, 166 389, 166 0
01 2 H&E=H| 92,400 92,400 0
SENtE =T AP 900, 000& x7E «12& 75,600
OEX&=H| 200,000 x7Z «12& 16,800
02 &8sY 146,916 146,916 0
(OF=FSE=, 1,749,000 x7H 123 146,916
03 =Wl 31,850 31,850 0
O 3egs 91,0003 7 H 50 31,850
04 =2/ bl 14,000 14,000 0
O, 2o 2,500,000& =2H 5,000
Oo& 1,800, 000& x5 9,000
05 SF2IESZH 40,600 40,600 0
O 3g=2ZdEsZ ] 4,800,000 *7Y 33,600
OUMZBAESEARIES 1,000, 0003 7Y 7,000
06 J|22IHRF=&HI 44,040 44,040 0
o 2,480,000 x12& 29,760
O 1,190,000 x12& 14,280
07 AFHEAMEES 7,600 7,600 0
OEHEYNRLE 2 7,600
-M2ZA2AX 223 &HEHI(13])
4,000,000& 4,000
~HIIZAZ2EI &S 2EIHI(15])
1,200,000& 1,200
~BISRAZAE A EESIHI(15])
2,400,000 2,400
08 QRAIAZRHS 6,720 6,720 0
O=30Hasz2EZ 80,0003 x7H«12& 6,720
09 QAIIAHURES 5,040 5,040 0
OZ3AHLEE= 60,0003 +x7H+12& 5,040
OIAr2E XA 251,021 111,944 139,077
101 elH| 12,738 2,250 10,488
04 JIZtMZ22XSE+ 12,738 2,250 10,488
OZFJIA 212 50,0003 1 »45< 2,250
O3 EAt Aoz 10,488
-JlEa 33,4003 »1H 250 8,350
=54 33,4003 »1H »52== 1,737




SN

9| 3| AR 1t

M ALz =2¢ N
&2 23 2Ee Wast (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
-AXsasit=E 33,4003 x1H 12 401
201 LetEH| 88,983 60,994 27,989
01 AtR22/Hl 46,096 39,840 6,256
O2z/=& M= 11,000& » 1505 1,650
Osl2E M 600,000 =83 4,800
OoAX=E &N 7Y 1,500,000& 1,500
OXNgX #=2 4,400,000& 4,400
OsYXN #=2 2,000,000& 2,000
Qg2 #=2 1,240,000& 1,240
(@Feif:2 gngel 200,000& *43| 800
Ogdid =5 2,000,000& 2,000
ONEE=sdE 200,000 =3CH 600
O2M=sUs 83l 3,000,000& 23| 6,000
O&IIMEHI 200,000& »22] 400
O3J1887], 871,80 dE=z
208,800& «12& 2,506
OoJasdgAEzass 2¢ 200,000& »7& 1,400
ORI W =H] 16,800
-9l & 8,400,000& 8,400
-& 3 8,400,000& 8,400
02 3234l 17,887 16, 154 1,733
Oz332= & HAl 4,887
CIEZEFUHE M= 70,0002 x1CH+ 128 840
—-Xt= XtAl 1,400,000& * 13l 1,400
-AsiHEE= 2,000, 000& *13] 2,000
-—RAYS 0182 24,750 123 297
-9l3| g M AARE 3] 50,0003 +7H 350
OAl & EHIs Xl 3,000,000& 3,000
Oxgsszd ¥ syl 10,000, 000& 10,000
03 A2 HI 25,000 5,000 20,000
OHM7al ZIIERAZASMEU HE
25,000, 000& 25,000
202 O4H| 19,800 19,800 0
01 WY 6,000 6,000 0
O2A M= H 4,000,000& 4,000
OBIERANZATH 22 =K HI
2,000,000& 2,000
03 =2H20tl 13,800 13,800 0
O3 =a=2 04l 1,800,000& x6H 10,800
OgRAXZ AL (HS) 3,000,000& «1H 3,000
203 HRF&H| 9,500 9,500 0
03 AHEFIHRFAH| 9,500 9,500 0




A 23 AR
g g 24 N2

el 2 2Eo WS (etel: =3
_ _ _ Muo
SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
O2SIAMRI AMMF=NHRFAHl 9,500,000& 9,500
401 Al&HI LS04I 100,000 0 100,000
01 Al&H| 100,000 0 100,000
O3l &H I B At 100,000, 000& 100,000
405 AHoHESHI 20,000 19,400 600
01 HARESFSH 20,000 19,400 600
O22a & ARY 5 AREIH2 A
500,000& 10K E 5,000
QoA ESNANTY 1,875,000& +8CH 15,000
SIZEL XS 101,000 72,000 29,000
201 LBt 3| 74,000 42,000 32,000
01 AtS 22l 74,000 42,000 32,000
OodflelHs MIL2L S 4,000,000& 4,000
O3 A4 M= 32,000,000& 32,000
JEEER 35,000,000& 35,000
Oodg=s 28 ML FY 2,000,000& 2,000
OAL&IoIE HI 8 1,000,000& 1,000
307 G12t0l A 27,000 30,000 23,000
05 RIZtRAE S 27,000 30,000 /3,000
023 elHUgSE2H = M
27,000,000& * 14! 27,000
HE2FZHI(2SALR L) 60,309 73,399 A 13,090
QIR HHI (23 AIR D) 20,589 38,709 A 18,120
A EIAHI (2SI AR D) 20,589 38,709 A 18,120
101 el 20,589 38,709 A 18,120
03 RIAHAZZNHE = 20,589 38,709 A 18,120
O2AHHIMAR 20,589
-2 734,800& 1H«123 8,818
- 03 8,817,600 x 1 *1/3 2,940
“AZ2HRIZ2RE 6,330 x1H»22A1 2tx 122 1,672
S PNE= =, 33,7603 x1H 22 743
-FL2RE 50,6402 x1H 2L« 128 1,216
-5 33,7603 1 «52== 1,756
-t = 8,817,600 1 x10% 882
-G Al 80,0003 «1Z ~12& 960
-ns 2 X 60,000& x1H *12& 720
-HEF Ot 734,800 x60%+*22] 882
Jl2ZHI (23 AR D) 39,720 34,690 5,030
Jl23dI (s AR 1t 39,720 34,690 5,030




A A2 AR

FHE: HHE2AHHI (2SI AR D)
©el: JI2ZHI(ASAIR D) (ehel: =3
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
201 LetEdH| 12,720 9,530 3,190
01 AtE22/Hl 12,720 9,530 3,190
ORM2ZE AtR2teld] 12,720,000& 12,720
202 O4Hl 23,040 21,120 1,920
01 =Wl 23,040 21,120 1,920
OJl2gR==80tl(12%) 23,040,000& 23,040
203 HRF&Hl 3,960 4,040 A 80
02 FRJAINMAHRFAHI 960 1,040 A80
O IAH R =4I 80,000& x12& 960
04 FN2ILRFAH 3,000 3,000 0
ORM2ILRFZEIHI(15210l6t)

250,000 «12& 3,000




